FASTTESEHER RS TR 6 5
AL 2 442 A 5 APUTORETT RIS Dl OB @ BT 5 R &
DEGZ, NHEEEH1 9 2R8E 1HOBEIZED, ROLBYVAKRLET,
WEk2 4% 7H 1 3 H
ST E LA S

ZEEK Bt TR

1 BEEEEONHH

VR 2 442 A 5 BT AUl RS

2 ARREAEEOBIEIC & 2 EEEE B9 5 S OGRRD HIIRER (5 &S EEN e AR
22, 578, 000H

3 #WEEOEEF



e i & K 4 T o Uk TR & FR2 341 2H27HMG
R %1 [\l
AN B K4 NS RES V2 44201 9H%T
IZA X HA
7B %A M
(K4 - HiR4) (% 158) NG 2, 865, 468
KRt 2,073, 240
KD THE E 9, 950, 000 BB T 1, 048, 285
AL LSS E 1,024, 955
B 20, 190
A , 169, 504
{1l , 638, 672
IR 2,307,415
SR 206, 701
rEE 30, 995
(OSIEE=¢ -
ME E 659, 565
Z DD EAT 10, 000
Z DAt DY -
A E] = 9, 960, 000 A ] = , 971, 750
E[] [E] & - Z[] [F] i -
w 7 9, 960, 000 s 7 ,971, 750
H 4
I D O HAEARMEYEE v 7 OVERK 462, 700
IRA B — DAFERL 623, 700 [

VR 2 42 H20H




o W & K 4 I RAE BRI HE T W2 42 H2 0BG
HATH & 2[4y
AN BT K4 NS RES V2 442H 28 HET
A X HA
7B %A M
(K4 - HiR4) (B 2) (FfH58) NE#E 70, 000
= F =ty -
- HE G -
e ¢ -
WIEE -
2B 3, 900
{1l -
I g -
CEA -
AR -
(ZSIEE ¢ -
ME E -
Z DA D FEAF 4 -
Z DA YL -
£ [H] H - A [H] H 73, 900
E(i] [F] 3 9, 960, 000 Al | H 10,971, 750
by 3 9, 960, 000 i i 11, 045, 650
| H & #H
FHO Y BB Y% v 7 DIYERL - M
N A B —DIERL -

et

I

S EFEH H

VR 2 452 H 2 9 H




o i & K 4 I RAE AT S IR HE P VR 2 42 H 2 9 HMND
HATH & 3|4y
AN BT K4 NS RES V2 443A7THET
A X HA
7B %A M
(K4 - HiR4) (B 2) (FfH58) NE#E 22, 400
! F =ty -
KD A E D 313, 069 BT -
<HE ELEGHE -
W 286, 639
A 4, 780
{1l -
IS -
LR -
rEE -
(OSIEE=¢ -
ME E -
Z DA D FEAT 4 -
Z DL DL -
A E = 313, 069 AL [A] 2 313, 819
2] E = 9, 960, 000 E[] [m] At 11, 045, 650
B 3 10, 273, 069 i i 11, 359, 469
| H 4 #H
FHD O HAEA Y EE v 7 DIYERL - M
N A B —DIERL -
WwEEZHEH H Rk 2 483 A8 H % 3 Sy




e i & K 4 WOk R BRI TR & V2 441 A1 27
HATH &1 \E4y
HN TS K4 R E V2 426 HET
IZA X HA
F72 B HEAF A
(R4 - Htk4) (% %) (% 158) NG 665, 000
KRt 950, 570
TR B % W 2, 500, 000 B HE T 457, 500
ERAES LY 493, 070
e L 18] 1R 50, 000 WIEE 52, 400
By % 1R 100, 000 A2 13, 781
I ] Fr#E+t 30, 000 B¢ 2,697, 310
W SR et 30, 000 T 3,626, 751
HeEr HIIBA T+ 30, 000 sk 49, 000
iR FriE L 20, 000 it 96, 714
el PesE i1 30, 000 KIA%E -
fHE  BE FriE1 30, 000 M B 70, 590
PEX S S R+ 110, 000
A 2 i 40, 000
K =& L 30, 000
N FritE L 30, 000
INER IR SR 30, 000
WitR  FEIT i1 30, 000
Bk —= R+ 40, 000
T R/ Fri#E L 50, 000
N Sedd R+ 30, 000
JIHp 7 T+ 100, 000
YNSRI N FriE L 50, 000
YN SIS FriE 100, 000
g WA FriE+ 30, 000
/R RN FrE+ 50, 000
1k wahE friEt 30, 000
ws MK R 20, 000
TIPS FrEE 1 30, 000
TN HE FriEL 30, 000
BONE I 1 15, 000
[ER AN~ I 1 20, 000
Ho B85 Fr#EL 50, 000
e R IR 50, 000
HH R it 30, 000
Rk EE i1 30, 000
@i A FriE+ 30, 000
[ S friEt 15, 000
e FrE T 40, 000
R EB i1 100, 000
iy WwWoH FriEL 20, 000
R 5 friEt 50, 000
I B IRt 50, 000
1= FS It 50, 000
Ir ET IR+ 30, 000
e HE FrE T 20, 000
fRHE A SIa 30, 000
T B i+ 50, 000
/INES S IETR SIa 20, 000




W EAE T+ 20, 000
TERE M it 50, 000
BH BT Jr#EL 15, 000
gnA RN frit 20, 000
WA —2= friEt 20, 000
A BT friEt 20, 000
S T+ 50, 000
I AT T+ 30, 000
HE e i1 30, 000
EH #& R+ 30, 000
HHOfEE R+ 40, 000
Vepk  HE frit 40, 000
P FESC FriE L 50, 000
RIR S i+ 30, 000
HAd Sk FriE L 20, 000
ELCES R+ 54, 000
PR KT FriE L 30, 000
By Bt R+ 20, 000
R IR 30, 000
RS BER R+ 20, 000
i ZIR R+ 30, 000
fEE =V AR 20, 000
(L YREA AR 20, 000
=% pkiE £ 20, 000
N = % fifi 30, 000
WHH K AR 20, 000
AN PN R 20, 000
B AP M 91, 000
BEHE &= AR 91, 000
AN NN BifzN =] 98, 000
W G AR 98, 000
o O MR 98, 000
FH  —=RR HEIER 98, 000
JIE BERRR MR 91, 000
E DD FAT 19014 1, 520, 000
Z DAY 20, 000
4 [F] it 7, 334, 000 A [A] i 8,222,116
20} [] &t - 20 [A] &t -
w it 7,334, 000 7 8,222,116
5 H 4 #H
FHO D HAE A NEE v 7 OIERK 462, 700 M
RA S —DAERL 800, 730 [
WwEEZHAEH H VR 2 42 H20H 1 EHRE LS




